)

2)

3)

4)

Important Instructions for the
School Principal

(Not to be printed with the question paper)

This question paper is strictly meant for use in school based SA-II, March-2012
only. This question paper is not to be used for any other purpose except
mentioned above under any circumstances.

The intellectual material contained in the question paper is the exclusive property
of Central Board of Secondary Education and no one including the user school is
allowed to publish, print or convey (by any means) to any person not authorised
by the board in this regard.

The School Principal is responsible for the safe custody of the question paper or
any other material sent by the Central Board of Secondary Education in
connection with school based SA-II, March-2012, in any form including the print-
outs, compact-disc or any other electronic form.

Any violation of the terms and conditions mentioned above may result in the

action criminal or civil under the applicable laws/byelaws against the
offenders/ defaulters.

Note:

Please ensure that these instructions are not printed with the
question paper being administered to the examinees.
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SUMMATIVE ASSESSMENT - 11, 2012 47030
Henfera udter - 11, 2012

SCIENCE / fag=
Class - IX /&1 - IX

Time allowed : 3 hours Maximum Marks : 90

fuifta = : 3 9ue Jfereran 3 : 90

General Instructions :

(i) The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

(if) All questions are compulsory.

(iif)  There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

(iv)  All questions of Section-A and all questions of Section-B are to be attempted separately.

(v) Questions number 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

(vi)  Questions number 4 to 7 in Section-A are two marks questions. These are to be answered in
about 30 words each.

(vii)  Questions number 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

(viii) Questions number 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.

(ix)  Questions number 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

qrar= 9T

() T LT T I G U, UEI-3T 3T WEI-a H Fier 1 SMIh! SHI WFT ok el ok S fawn €

(i) Ay erfremd ¥ |

(i) T WA T W HE T WH TR § Wy WE-UE SR F uE g # ofiad =ee femm e #)
T U H 379 hael Teh il =197 o1 SR fera & fau <0 oehd €|

(iv)  STURI WMT-37 3R WFI-& & Gt T & IR JIR-Jok o 8 |

(v)  WTI-37 % T &A1 19 3 % YT Ueh-Teh 3{ch o & | STk S Ueh YIag 1ol Weh ATk § & |

(vi)  WFT-31 % Y¥T T 4 9 7% U S1-aF 3{ehl & & | Tk ST AN 30-30 9Tl H <

(vi) ~ WTT-37 % YT H&A 8 § 19 F T -1 ekl o & | Tk ST T 50-50 I1&at H <7 T |

(viii) ~HTT-3T % W¥T HEAT 20 § 24 % Y YTA-UT= 3Wehi o & | Tk ST I 70 9Tagl H < ¥ |

(ix) WT-& & U HEAT 25 § 42 F YT FANTCHS hivel W ARG sgfahedt U9 €1 J&h WA
Teh 3k H1 1 U T =R faeredl # & 9kl hadl Uk Fod 39ga faehed 1 T |
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SECTION-A / WRT-37

Define one atomic mass unit. 1

Teh TATY] GAHM Sohls ohl TR i |

How would you call the symbiotic relationship between fungi and certain blue green algae ? 1

Fehi Hl FD TSGAT A1e1-BRd FaTer o D1 TR Geiel T <, SHDT AT HT FHadl ?

List two biotic components of biosphere. 1

SiteUed o QI Sk SISl i T SR |

Fungi cannot be considered as non green plants.Why ? 2

Thele ! eia-fafes urgw =& agen smar &1 =i ?

Apart from sexual contact AIDS virus can be spread by which other two means. 2

<ifiTeR Heiy o raman off AIDS famo] o thet &l & 9 T IRT § 2

A metallic block of 6 Kg is dropped into a water tank. The volume of the block is given to be 2

3x10 °m’and density of water is 1O3kg/ m’ .
Find : (@) Buoyant force on the block (b) Density of metallic block

T W1 T e STHH T 6 kg B, T & Ik H = a1 81 ek 1 SAFE 3% 10 m’
AT I T B 10°kg/m” f&am 7 2
@ HINC (a) Tk T SceAed 91l (b) TZh T B

Define the term work. Seema tried to push a heavy rock of 100 kg for 200 s but could not 2
move it. Find the work done by Seema at the end of 200 s.

I st qfTen faferT | T T 10 kg % 9IRT TeeR, I 200 Yohe Tk HUheT I FATH HIAT § AfR
39 feam =& 9Tt 1200 ehs & 3Ad | Hia1 R foman e e 9| wifsT

(a) What are anions ? 3
(b) Write the chemical formulae of the following compounds :-

1. ammonium hydroxide.

2. calcium chloride
() Calculate the molecular mass of H,SO,

(Atomicmassof H-11,S5-32u, O-16u)
() RO A §?
(b) = feu e iR & TEEtE g fafe -
1. IHIIH TESFRES
2. ey FAREe
() H,SO, = sTfvesh g Referd hifsa |
(THEY T A H -11,5-32u,O-16u)
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9.

10.

11.

12.

What observations in « - particle scattering experiment led Rutherford to make the following
conclusions ?

(i) Most of the space in an atom is empty.

(if) The positive charge of the atom occupies very little space.

(iify ~ Mass of the atom is concentrated in a very small volume within the atom.

TCUHIE o STCH K0T FehiUH TR o H&10 fofau fSeh s W ffefaa aitom feers T ?
(i) I % iR 1 SfEeRaR am e

(i) I H e 9 §gd w9 T

(ili) ~ TRHTY] ST SSAHH THIY o fiaR Sgd hH TEaH H Hid 2|

Study the following table and answer the questions that follow :

Element | Electrons | Protons Neutrons
A 2 3 4
B 10 9 8
C 8 8 8
D 8 8 10
(@) What is the mass number of elements A and B ?
(b) What is the atomic number of element B ?
() Which two elements represent a pair of isotopes and why ?
(d) What is the valency of element C ?

T <t g2 ifereht 1 s1eem ifST aon gl o I A

T | FoeeE | e 2
A 2 3 4
B 10 9 8
C 8 8 8
D 8 8 10

(a) T@ A TH B &I S9N H&A F1 ] ?

(b) T B I THTIVGR HEAT HIT R ?

(€ Y A d grefe § a1 =i ?

(d) T C Hl GASTRA AT |

What is the system of scientific naming of organisms called ?
conventions followed while giving such names.

STrat ah] SfeR 19 < ATelt YUIelt i 91 hed § 2 I8 A o % fore 1 fosiy el 61 Soora
ity |

State two important

Give other name to the category of plants that are called phaenerogams. How are they
further classified on the basis of their seeds ? Give example from each category.

el H T hEl S ATt So7t 1 gEa AW fafaw | 39 s W eneiRa e fhd geR
forar ST © 1 Uclieh ot ol Ueh-Teh Saredyl fafign |
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13.

14.

15.

16.

17.

18.

19.

The general way of preventing infections mostly relate to preventing exposure to the disease
agent ? Explain the statement with three examples.

TohTHeh I i AeheI™ o oI Ueh A1 Uishan §, I ek o STATER0T W SAHI AT | 39
A i IR o TT diF ITeL0T ST |

Define pressure. Give its SI unit. A cylindrical block of radius r and mass m is lying on the
table. If its radius is doubled and mass is tripled then what happens to pressure acting on
the table.

TE 1 GRAT TAET qg1 91 SI H1F% Add iU | Teh r A1 TG m §9H9M Sl AR
TR B W TN 1 § 1 4TS 38eh! T2 sl SRTAT o e S qem g &Rl <9 T s fean s
A HS I Yk gRI ST T Tel T AT Y7l e 2

Define the term power. An electric bulb of 100 W is used for 5 hours per day. Calculate the
“units’ of energy consumed in one day by the bulb.

vifert =1 uRkenfaa SIS 1 100 W 1 ek fogqa siear wfdfed 5 s =i e Sar € 1 siest g
e fad H @ bl TE ISl ki A1 1 gfiehed hifsw |

A mass of 10 kg is dropped from a height of 50 cm. Find its :
(@) Potential energy just before dropping.
(b)  Kinetic energy just on touching the ground.
(c)  Velocity with which it hits the ground.
[Giveng = 10 ms™ 2]
T faue fSee1 2699 10 kg © 50 cm i =1 9 FRET S & 1 9 &I
() TT ST & 3 Tea feafas s |
(b) S A T WIS e |
() =7 o I oft 9 THar g |
(fe=n %g = 10ms~2)

i) Write the full form of SONAR.
ii) Explain the working of SONAR.
ii)  Write one use of SONAR.

(
%
(i) SONAR 1 for&gd &9 fetfiau |
(i)  SONAR & wrifafy fafew |

(i) SONAR 3l Tk 3TN feafEn |

List three functions performed by the atmosphere to act as a blanket.

AHUST HFSE hT Wit AT JfHehT F9 & 38 9 & AU e & 99 St S g 99|

State briefly three harmful effects of burning of fossil fuels.

STETeHT SUT ol ST o I BIfehY FH9TEl ohl H&T9 H 3ol hifsTu |
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20.

21.

22,

(@) What is the value of Avogadro constant ?

(b) Find the number of moles in 9 grams of water. (Atomic Mass of H=1u, O=16 u)

() State which has more number of molecules and also calculate the number of
molecules in the following :
10 gm of H, or 10 gm of N, (atomic massof H = 1u, N = 14 u)

(d) Find the mass of 0.5 moles of O, gas.
(Atomic mass O=16u.)
(a)  SAEnTRI feerie 1 °F fafET
(b)  9g < H HiTl I AT A HITST |
(9] geFHH H=1u, O=16u)
© 10g H, ™ S@a 10 g N, T8 & § fored sttt 1 "en sifue & qen 37 <A1 46 |
ST hl G uRehferd sifsie |
(T g9 H H =1u, N = 14u)
(d) 054 O, ¥ =l g9 A HIfory |
(9] eIHHE O =16u)

OR/3TeraT
(@) Find the ratio by number of atoms for CaO. The ratio by mass values of Calcium
and Oxygen is found to be 5 : 2. (Atomic Mass of Ca=40uand O=16u).
(b) Explain the law of constant proportion with an example.

(@) CaO % folu wRmmoell i W&l §RI UM I HIWGC|  hicys qen e i
M STIIA | 5: 2 T TN § | (TAT] S99 Ca=40 u 3RO =16u)
(b) U 3SR g R AU o T i =Area Shifsg |

The following is a list of invertebrates. Classify them into different phyla giving one
characteristic morphological feature to justify your classification.

(@) Star fish (b) Nereis () House fly

(d) Sycon (e) Planaria

= sTeRsTeant Sial i g <t TE § 1 IRI Sigell & fafve St | afiha shifsiw | afieRtor @l gfie
% foTT ysh ot T Toh-Teh T AT fafa -

(@) IR Tl by ™ (c) = HaEl

(d)  HEHRA () =i

OR/3TeraT
What are the five kingdoms of Whittaker ? Give the most important characteristic feature of
each kingdom.

oot gRT WA Wid SI7Td 1 & 7 Wedeh SITd ki <1-d1 W fagmand fafay |

Define work, energy and power. State the SI units for each of these quantities. A man whose
mass is 80 kg climbs up 30 steps of the stairs in 30 s. If each step is

12.5 cm in height, calculate the power used in climbing the stairs. (g = 10 m/s?)

Fd, Foll SR wfert b1 TR I | Tedies TR AT ATk T T | Ueh AT foreent gemm
80 kg %, 30 Hifgai 30 Tehe # =edr ¥ 1 afc ys el 12.5 cm 3=t &, 0 Hifeai =g & wifed 1
R HISL | (A€ g = 10 m/s2)
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23.

24.

25.

OR/3TeraT
Define Kinetic Energy and Potential energy. Write an expression for K.E. of a body of mass
m moving with a speed v. Find the kinetic energy of a stone of 10 kg moving with a velocity
of 10 m/s.
TSt St AR feerfast o1t w61 aRifia sifsr 1 =fs foret five o1 2oomM m de 39e T84 1 9n
v & 1 3Hent Tfas et & fore =ieres fafew | afe feet five o1 gomm 10 kg SR AT 10 m/s T

TSt Sell A1 ShiTSIT |

(@) State the relationship between wavelength, frequency and speed of a sound
wave in a medium.
(b) A bat can hear sound at frequencies upto 120 kHz. What is the wavelengthin  air

at this frequency if the speed of sound is 344 ms ' ?
() What is the audible range of average human ear ?
(d) Write two uses of Ultrasound.
(
(

a) U HeEH H e i alTesd, STEfd a1 9 # GeY 1 Seoid i |
b) TH THIES 120 kHz 3gfa &I & ®1 g9 ka1 &1 99 H A = *F 9
344 ms~1 8, 9 39 AT W e =41 Bt 2
(c) U T % I o fIC Foan o1 ufes 1 g ?
(d) T % ®iE o AIIEN faraw |
OR/37era
(i) During a thunderstorm, why is the sound of thunder heard a little later than the
flash of light ?
(if) Name one factor on which the speed of the sound depends ?
(iif) A sound wave travels at a speed of 339 m/s. If its wavelength is 1.5 cm, what ~ is
the frequency of the wave ? Will it be audible to humans ? Give reason.

(i)  fed o TS S LA YR ht THER GEE S F F R TE F GAR <l 2

(ii) & Rl =T 1 Y9IfAd HE o TR Toh Rk 61 T4 A 2

(i) T A T 339 m/s HT =1 ¥ Fecht §1 AfE gHR! e 1.5 cm &, @ a1 H
sTgha fopat BFt ? 1 I8 94 BT 7

(@) List three major physical processes in the water cycle in nature.
(b) Draw a labelled diagram of oxygen cycle in nature.
(a)  HAH TA-< | I Al 9@ 91 ifaes gfieaed w g s
(b) i H TSk <R AHifoRd 3 Wi |
OR/3TraT
(@) Draw a diagram of Nitrogen cycle in nature.
(b) State two consequences of global warming.
(a)  Wohid | BN =5k 1 ARG GifaT |
(b)  Sftas Fefieo % 3 afiom fafeT |

SECTION - B / 4-&
To verify the Law of conservation of mass in the case of a chemical change, Sodium sulphate
and Barium chloride should be used in the form of :
(@) fine powder. (b) large crystals.
(c) molten liquid. (d) aqueous solutions.
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26.

27.

28.

29.

Teh Y9 9Rede § gqd 93810 & 99 ol 9anfyd & & fae suam foe -m o difsay
Hothe qT IfTH FiEe 59 w9 H 2 Afsu aB © ¢

(a)  HEM Y=t (b) = fREd

(c) forem g3t 5o (d) ERIPACNRE]

When a student mixed barium chloride solution with sodium sulphate solution he observed,
(@) a blue precipitate. (b) a blue colour solution.
(c) a white precipitate. (d) No change in the mixture.

S& T fomnei 7 9fEy serEss faaam < Gifssy gethe faaem § fafya fean som afsm foan
IER
() T et 1 ST ITA | (b) T el 1 1 forerm a9 7

() T Thg TN H1 SFIHT T ¢ | ) frgor & i afteds & smar €1

The horny beak present in birds which is adopted to various purposes contain
(@) 2 sets of teeth (b) 4 sets of teeth

(@) 8 sets of teeth (d) no teeth

el o Sufterd it =i S fafver sl & fae srefaa 2 €, &

(@ TAIFH2CITE (b)) M H4L4TEINT

() T H8ATTR (d) <=l

Parts of Agaricus labelled as A, B, Cand D are

(@) Pileus, gills, stipe, hyphae (b) Pileus, hyphae, gills, stipe
() Pileus, stipe, gills, hyphae (d) Pileus, gills, hypae, stipe
TRy W AHifRd 9 A, B, C 91D § ShHl: :-

@) bR, W, SEER 4, Theshdg (BRW) (b)) B, sheshd, FdH, SR g

(c) Bt Bfwent 9, i, Teeha=g (d) BRI, A, Seehda, SR g
The number of chambers present in the heart of fishes and birds respectively are :

(@) two and two (b) four and four

() two and four (d) four and two
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30.

31.

32.

33.

e a1 el & ged H Sufkerd el ohi H&A1 Sl Bl © ¢
@ FIRF (b) IR EAR
() @R d) FRERA

Chloroplast in spirogyra is

(@) spirally arranged without pyrenoids

(b) spirally arranged in ribbon shape with pyrenoids
(c

(

) circular
d) cup shaped
TSN H AR Bl :-
(a) YA qe1 EHES Wed
(b)  wfia, REF % TR § gt 9fed
() TR
(d) 9% AERH

o

Four students A, B, C and D are observing the seeds and flowers of tamarind plant. They
reported that seeds and flowers of tamarind plant are :-

(@) monocotyledonous seeds and trimerous flower
(b) monocotyledonous seeds and pentamerous flower
(c) dicotyledonous seeds and trimerous flower

(d) dicotyledonous seeds and pentamerous flower

IR faeneff A, B, C A1 D guelt o e o Sl aem Fell b1 UET0 W@ E | %M e T
T % WIS o S 99T Bl B €

(@)  ThsiSTOSl it qer Bt gel (b)  ThSSTOl ST q1 9T Fed

() Toatoosh st qen et e d)  TeeTSos s qen =Rl Ba

The following are the stages in life cycle of a mosquito.

(1) Pupa (ii) Larvae

(iii)  Eggs (iv)  Adult mosquito
The correct sequence is :

(@ (1), (), (i), (iv) (b) (i), (i), (iid), (iv)
© () (i), (i), (v) @ (), ) i) (V)
st & Sfe =k § I et

(ONE L (i) @

(i) < (iv) %R A=Y
3% S{Ta =I5k 1 el HA ©

(@ (@), @) (i), (iv) (b) (), (@), (i), (iv)
(© () (i), (i), (iv) (d) (i), @), (), 1)

While measuring the volume of the solid by immersing it in a liquid four students A, B, C

and D performed the experiment in the following ways. Which is correct ?

(@) Student A has held the measuring jar in one hand and had immersed the solid inside
the liquid with the other hand and observed the reading.

(b) Student B has placed the jar on the table and had immersed the solid inside the liquid
and positioned his eye in level with the liquid to observe the reading
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34.

35.

(©
(d)

Student C had placed the measuring jar on the table and immersed the solid inside the
liquid and observed the reading standing erect.

Student D placed the jar on the table and dropped, the solid into the measuring jar and
sat on the stool to observe the reading.

9R faenfefi A, B, C e D 7 {5t g § Tk S 1 Gallhd SUHT 37T A0 & faqg = < 1
31erT-31er fafesl & v foham) we fafa & «-

(@)

fornefl A 3 waes fafdet o1 T w19 | ehel a1 SO Y | 3HH WX g9 H 3™ Sl gl
T %6 oh WILhI UTgAieh AIE feha |

fareneff B % #ue fafde ol 79 W o sod W ga § S 1 gardn a9 STu 3@ &l g9
& W Y TR UGk e R

fomneff C 7 AR fafder &1 991 W @1, 3TH W 59 § 319 & AT a1 HY TS R 74
% I 1 rgdieh A1 foha |

fomneff D 7 woes fafdet 1 39 W @, 399 WX 59 § 319 ol GAT 791 T ©d W 98T
%ol h &I k1 IgAieh AIe feRa |

The mass of a solid iron cube of side 4 cm is to be determined by any one out of the four

spring balances available. The one best suited for the purpose would be :-

(d)

range = 0 to 100g, and least count = 1 g.
range = 0 to 100g , and least count = 5 g.
range = 0 to 1000g, and least count = 25 g.
range = 0 to 1000g , and least count = 10 g.

Teh 4 cm o1 161 @18 6 =19 &1 98 A & T8 =R 39eed hAMIGR qast 8 o fodl T & g
M HET 8| 39 HE & foaw garaq === 2o :-

RER = 0§ 100g q1 FeqaHish = 1 g.
R = 0 to 100g TAT SeUqHIh = 5 g.
IRE = 0 to 1000g T 3TeqHih = 25 g,
TRET = 0 to 1000g T 3TeqaHish = 10 g.

The loss in weight of a solid is more in salty solution than water because :

(@)
(b)
(©
(d)

Density of water and salty solution is same
Density of water is less than salty solution
Density of water is more than salty solution
Densities can’t be compared.

STeT oh1 STUST Teoi Biiel § fonelt S o YR shet 21fees 2Bidt §, il

(@)

STl o eI Eiiel ST SFcd THH BT § |
STel Rl Bcdl ASYT BT o O cd § HH BIdl ¢ |
STl oh1 Bcel STaviTg Hied s Bcd W 3R BT §

Tl oh! ol TE1 i ST Hehell T |
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36.

37.

The readings of the spring balance will be

l

(@) equal to each other in all cases A, B and C.
(b) equal to each other in cases A and C only.
() equal to each other in cases B and C only
(d) different in every case.

FHMIGR ol < I3l

I

(a) (b)  hIA A TAIC H THH ST
(c) had B Y1 CH 99H ST | d)  IHF H TSI BT |

To compare the pressure exerted by a cuboid, a student was given four cuboids. Two
cuboids are made of iron of dimensions 20 cm x 15 cm x 10 cm and 15 cm x 10 cm x 5 cm
respectively. The other two cuboids are made of aluminium of dimensions 20 cm x 15 cm x
10 cm and 15 cm x 10 cm x 5 cm respectively. To perform the experiment effectively the
student should use :

(@) aluminium cuboid of dimension 20 cm x 10 cm x 5 cm.
(b) aluminium cuboid of dimension 15 cm x 10 cm x 5 cm.
(c) iron cuboid of dimension 15 cm x 10 cm x 5 cm.
(d) iron cuboid of dimension 20 cm x 10 cm x 5 cm.

Teh T RI IY, T <6 ki oAl o foTt Tk 913 1 =R 5A19 f U <1 51 &g & o €
SRt fomme e 20 cmx 15 cm X 10 cm 3R 15 cm X 10 ecm x5 cm @1 R &1 =14 Tgfafem
F o & foant fommd e 20 cmx 15 emx 10 cm 3R 15 em X 10 em X5 cm &1 WA 61
THIRTEN &1 9§ S o feTq S 1 &0 Tl =1fey

(@) TegfafTad =y et famm 20 em x 10 em x5 cm €1

(b) 1i?g’i'\ﬂlﬁl'qtr€|=|T‘Hf?mﬁlﬂ1%|"4T'§15cmxlOcmx5cm%¥|

(c) g <1 w1 frgent famme 15 cm x 10 em x5 em €
(

d) @R H I fSEERT fTE 20 cm x 10 cm x5 cm €
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38.

39.

40.

To compare the pressure exerted by a cuboid, Neha was given four solid cuboids made of
plastic, wood, aluminium and brass. The dimensions of each cuboid are 15 cm x 10 cm x 5
cm:

To perform the experiment effectively she should choose.

(@) plastic cuboid (b) aluminium cuboid

() brass cuboid (d) wooden cuboid.

Tk SHIY T U ORI TT <7l ki gl o fTT Hel 1 @ifiesh, dhel, TofafTem e diad & sH
IR 3| oY feT 7T Fde S it A 15 cm X 10 em X 5 cm B

TN T JUEedt 3T @ A % fau 3@ g =fe

(a) & =Y (b)  UgfafEm =Y

(c) il sl oY (d)  TTREl 1 =AY

To verify the laws of reflection of sound an experimental set up is shown. For experiment to
be successful the surfaces A and B should be

A
N
"D B C/

Surface A Surface B
(@) thermocole sheet iron sheet
(b) thermocole sheet thermocole sheet
(c) iron sheet iron sheet
(d) iron sheet thermocole sheet

st % TWedd & Fram w1 genfud #0 % fau = guit Tu sEr gEifie s 9 T |
AT 1 TS 9 & T T8 A 91 B 8 =few : -
A

N/
D B C/
TS A TS B
(@) o F AT FA T =T
(b)  HHIRIA I AL eI ohi =R
(c) 3T Wi T FA i =L
(d) AR A =T oHfeRIe i =TeR

To verify the laws of reflection of sound, four students A, B, C and D measured the Zi and
Zr as shown. The measurements of Zi and Zr are correctly made by the student :-
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41.

42,

(@ A (by B @ C (d D
& o Ed o FTEHl Sl FAMUd i o fae 9 faenfe=i A, B, C &1 D 7 1< T T ST{ER
i /r A1 /i 9 ¢ 61 HE 119 5 et g ferm g 9w © -

What is the velocity of pulse for the slinky indicated below ?
Given that the pulse took 5s to travel from A to B and then back to A.

(@) 5 m/s (b) 2m/s () 10 m/s | (d) 25m/s
==t fou T feetent 4 wig ot = R ? A Te 55 H A W B de 3R R A" A % S ¥

%mmmmnnmmﬂmm
“;1;{._/
T 5m a

(@ 5m/s (b) 2m/s () 10m/s (d) 25m/s

In the experiment to determine the speed of a pulse propagated through a stretched string, a
student recorded the following precautions. The precaution which is correct is

(@) The string should be very tight while creating pulse in it.

(b) The string should not have knots at any point along its length.

() The amplitude of the pulse should be quite small.

(d) All the above

MG SR & Fafa T 1 97 1w Sl g § vk forneff 3 fre wraenfr fewrd w0 w@

Ee § -

(@) SN T < 99Rd w0 9 SR 3T 1 BT <16 |
(b) SR H el off WS 7 S =few

(c) T I AW FATH FHH BT =1

(d) STl |4t
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